


Product

Chocolate bar

‘“ Answers registration table

Obtained
number in the

Solution to riddle Solution to Solution to Obtained Footprint

. incard1 riddleincard 2 riddleincard3  number colour i
labyrinth

Toothpaste

T-shirt

Smartphone

Hamburguer

Laptop

Jeans

Travel

Plastic bottle

Avocado

Toilet paper

Car

PADLOCK CODE




E%t ‘“ Score calculation table

Product

Chocolate bar

Less
than 10
minutes

5 points

TIME
Between

20
minutes

3 points

OBTAINED NUMBER

Correct
answer

10 points

Wrong
answer

0 points

Green

15 points

FOOTPRINT

Yellow

5 points

Red

0 points

TOTAL
POINTS
(max=30)

Toothpaste

T-shirt

Smartphone

Hamburguer

Laptop

Jeans

Travel

Plastic bottle

Avocado

Toilet paper

Car

TOTAL SCORE




TOTAL SCORE

Score verification table

OBSERVATIONS

Between 241
and 360 points

In the end what matters is the footprint we leave, so you can feel happy because the green
colour predominates in your footprint.

If you have obtained this score, one option is that you may have found the tests difficult,
but the colour green predominates in your footprint, which means that you have to catch

and 120 points

Between 121 up with maths, but also that there is good news for you about your sustainable habits.

and 240 points However, if you got this score because you played smart and fast, but the green colour
does not predominate in your footprint, this is not good news and maybe it is time to adopt
more sustainable habits, don’t you think?

Between O Something is wrong. It seems that you have lost the way and that your footprint is not

close to green.... This is not a good result, what if you try again?




